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GCEF Factoring
Greatest Common Factor: The greatest number that divides evenly into a set of

numbers.
When dealing with variables, it is the lowest degree of a variable common to every
term.

Examples: Factor the GCF of each of the following:

I. (8xy—2y) 2. (27x3 -9x?%) 3. (42xy° +7x?%) 4. (2x% —12x)
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To factor the GCF out of an expression, divide each term by the GCF and write your
answer in un-distributed form.

Factor the GCF out of each of the following:

= 5. 10x3®— 5x 6. y>+y? 7. 27x —8lxy?* 8. 10x — 14y + 40x |
J|5x(ax-N) ]_njz(fﬂf 27x(1-3y’)  Box -4
} - (R 635"‘%7]
9. #y—-xPyz3+x3y* | 10.172% - ﬁﬂzyi 11.2x — 16y i 2.5y + 20y? — 125

:lilj(—x—x +5 Hzﬁ_z-'% Q(X-th K5(451+3—Qs§

-_|

T 71

He——  E——)

|
| S

-
f

T




- GCF

i1 j

GCF Factoring Daily Check

L9+ 1847 +30n
3n 3n 3n

In(3n* +5Nt1D)

a2 10x° — 6x° — 6x

0‘2)(,(5)(.2-3% = 3)

5 —50x7y — 5xy

..5'x5 (IDX" +1)

y —6a’h+24a’h + 60a’

-(oa’ (ab - Hb - 10)
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Factoring Trinomials when a = |
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| 1. 22+5x+6

’f (x+2)(x+3))
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[(x -3)(xt9))

5. x2-13x+ 36

6, X —4x-=12

\T;S)Cx—lail

( x-D)(x-4) [(x-L)(c+2)
7. x2-15x+36 8. x2+4x-21
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l(x+Nx-3) |

9. 2x2+12x+16

2(x+bxt8)

10. 3x2—9y <139  — ————
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ML 35,
L

i;l (xw)(ma!]

--------

I [



1 1 i | |
1 i

lactoing when a-l Daily (feck

+—-
P 2%

(=D0-)) 375 [ D&H))

P. ¥ — 117+ 28 22— 19 k* _ 3k — 54

5. 57 +35r + 60 Y4.x* -9
5 T |
x' +0x -9

2 12)
5 (r*+ r + Lgx:a)UC*B)

I T [ |
SnN RN N

o T |
SEEREEEN NENE
BN NN
;;'!fii:rj_i.if,*!ﬁ‘
i L
b L e




P | ¥ | 4 r A : E N o
*é((%p N 8 s -
Factoring Trinomials when a > 1

Lets think about FOIL 2) (3x+4)(x-6)
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Difference of Two Squares Fac

toring Notes and Examples

What is a Perfect Square? [ Can Variables be Perfect vares?
‘:-_ - s=i1z2i
| , ‘ﬂ ﬂ' “1_‘2 f}"' = x _ﬂ:na eﬂpe,-,
2*: 4 1749 12 144 4= ) 0 |@)n2r’lf_
3%-9 2r=pH (372164 X (veS 30&
2 4= [Q - y? 9
Yy =l q* =8l L X - ) 4 a e 1
5%25  qotoipo 1977228 Sguore -

Remember FOIL? (Multiply out 1-4)

1.(x + 8)(x + 8)

X*+ 8x + 8% b4 L&V‘Ce“

2) (x + 5)(x + 5)

st

3 (x+8)(x-8)

4) (x-5)(x+5)

1| xteBx-Bx-bH X'+ 5x 5% -26

e X*-25
What's happening in #3 and #4?

'Thp, \\bﬁ- - Difference of Tw res
CancedS owd Xt -5

x% +ox -5

5) (x*-9) " e

X X, = :
(x +7)(x-7)




7) Always Check for a GCF First [8)(axZ—38) ]
e ‘;2) ) G{x*-9)

r‘:x H(x +3 )(x -3)
Ez-(x#ﬂ(-’c"f)]

8) Always make sure its fully Simplified. —9}_(% x* — 64y?)

(5x 8y Yo - gy

&
Factor each using lef:fr)tnu of Two Squares. Always check for a GCF First.
¥ 31 gf‘i,,w_m i{:2) 36x° ~ 100_(1Gx +SY3x )
4(25n2-4) 4 (4x*-25)

3‘%100!7 - 16( an e ;?, )(5n -ﬂ ﬁlfgz‘h—iﬂj E@\ra)(}n-an
| 5}*’45 2_35 E(QV - 6) 25a° - 1
] gzv +D(3v-)) (58 + 15 - 1)
D br-9 %ﬁ 27" -78
- (b+3)(b-3) 3(Ax°-2s)

3(33{1"5)(3‘('5)

What happens if it looks like

9) (9 —-xzj 10) (16y2 — 9x2) )
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Solving Quadratic Equations by Factoring
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Solving Quadratic Equqﬂons_ by Factoring .
1. Put the equation in bfdr[";f(lrd -h” e
2. Factor Gmpletely:
2Ler re
3. Set each factor equal to zero and _S0lve ;W 3 -P-Pro:P&r’hjf
4. Check your answers!!!
Solve each equation. o #? pot 10 S deé
. xP=x-56=0 2. Bx+x*4+7=0
(X-8)(x-7)=0 x*+8x +1=0
= O
& J x+)(x+!)
x-8=0 . =
X120 x+ 71 = x +1=
X=§ - ' =
8]  [=7 =7 ¢ [x=-1
3. n*-1n+10=0 4. 3x*+9x-54=0 I
¥
(n-10)(n-1)= o s
| T X2+ 3x -18=0

Nn-(0 =0 n-I1 =0 (x - 3){15*(0) O

2]

=0 X+l=0

: l "'31 ="
5 2x*+x-15=0 _LF_'_ 6. 4% +2x=—5
N )
@x-5Yx + 3)= 53| UYy*+2Ilx +5=0

(Hx+ 1 Yx + 5)=0
- %) A=-3] ‘ =5

X+9=0

Ux +l =0




x*-In +l10 =0
(x-5)x-a)= 0

§20=5]
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e Root
Solving Quadratic Equations by Taking the Squar r
Solving Quadratic Equations by Completing the Square
I. Getthe L' or the DI @ squared by itself . |
2. Take the _%Jﬂl'l root” of BOTH sides of the equal sign
<

3. Don't forget the”_=_sign
4. Simplify

5. Check your answers!!!

Solve each equation.
] : X: +4=0 ;

x*=-y T i q x=3{z
. 2 X 3‘35
X={-% i (X
no real Solutions X = ‘.".m -

3 Wi—iD=—3"] | 4. (x+4)°-3=15

3x -9 (x+uy’ =18
5 XM 230T

x: J-J-g— X-“'G X+t4 =3[z x+4='3‘§

[x=-4+3G | [x- -3z
5. 5(x-4) =125

g Z . —:x:=243
(x4 =25 &
X-4=6 X-4:=-§ X=\-2%
9 ) o real Solutions




T = T

. Solving Quadratic Equations by Completing the Square

1. Rewrite so all terms containing x are on one side. _
2. Find the number that completes the square on the left side of the equation. Add

that number to both sides,

3.
right side of the equation.

Factor the perfect square frinomial on the left side of the equation. Simplify the

4. Take the square root of each side.
2 é?lé?:li?oﬁr answers!!! a
Solve each equation. _
1. x*-10x-54=0 _ 26 2. x*-18x+77=0 \
b -l t 2T HZE gy 8L = FeEL
- L =
{(x-5) -f?, (x,-?_ F
Trm | o ww
= e kAT
| 3. x2+20x-73=0 B 4. xP+éx-72=-8
Y+ 20x + 100 = 731 100 (%) e+ = b4+
¢ +1oY =13 \/Z;_:B)z =173
x+'0= .tJl-f.g )C+3= + I=’3

~l0 -6
le=10 4173

LT —
X =-3%

5 x?-10x-56=6

6. x*-14x-75=8

X —14x +

ﬁ’c 7> =[13Z
x-7= tals3
x=12*al3s)

yq = 33+ 3
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The disCriminant : L’* Yac

(f (b’-l-lac)> 0 Pun 2 eal Solutions

if (b*-4ac)<o Dua 2 ﬁmagr'.naoj Solwtions (ne real)

if (b?-4ac) =0 the | rea|l Solution

QUADRATIC FORMULA DAILY CHECK
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